
 

 Matrices 

mxnmn

>> Matrix=[1,2,3,;4,5,6;7,8,9] 

 

Matrix = 

 

     1     2     3 

     4     5     6 

     7     8     9 

>> Matrix(2,:) 

 

ans = 

     4     5     6 

 

>> Matrix(:,2) 

 

ans = 

     2 

     5 

     8 

  

>> Matrix(:) 

 

ans = 

     1 

     4 

     7 

     2 

     5 

     8 

     3 

     6 

     9



>> Matrix(1,2) 

 

ans = 

     2

>> Matrix(:,2) = [ ] 

Matrix = 

     1     3 

     4     6 

     7     9

>> Matrix(2,:) = [ ] 

Matrix = 

     1     2     3 

     7     8     9 

>> Matrix=[1,2,3,;4,5,6;7,8,9;10,11,12] 

Matrix = 

     1     2     3 

     4     5     6 

     7     8     9 

    10    11    12

>> diag(Matrix) 

ans = 

     1 

     5 

     9

 Transpose

[ ]ijA an mA

m n  A

AAATA . 

>> A=[1 3 5; 2 4 6] 

 

A = 

 

     1     3     5 

     2     4     6 



 

>> A' 

 

ans = 

 

     1     2 

     3     4 

     5     6 

 [ ]ijA a  n

det( )A 

 11det( ) 1A a n  

 11 22 12 21det( ) 2A a a a a n    

 1

1 1

1

det( ) ( 1) det 2
n

j

j j

j

A a A n



   

>> A=[1 0 3 ; 4 5 0; 7 8 9] 

 

A = 

 

     1     0     3 

     4     5     0 

     7     8     9 

>> det(A) 

ans = 

    36 

 

 

>> x=zeros(3,2) 

 

x = 

 

     0     0 

     0     0 

     0     0

 



 

 

>> x=ones(3,2) 

 

x = 

 

     1     1 

     1     1 

     1     1

 

 

 

>> id=eye(4) 

 

id = 

 

     1     0     0     0 

     0     1     0     0 

     0     0     1     0 

     0     0     0     1 
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  

 Sum

 

>> x=[1,2,3;4,5,6;7,8,9] 

 

x = 

 

     1     2     3 

     4     5     6 

     7     8     9 

 

>> A=sum(x) 

 

A = 



 

    12    15    18 

 

>> A=sum(x') 

 

A = 

 

     6    15    24 

 Max

 

>> B=max(x) 

 

B = 

 

     7     8     9 

 

>> B=max(x') 

 

B = 

     3     6     9 

 Size 

>> [C,D]=size(x) 

 

C = 

 

     3 

 

 

D = 

 

     3 

 

 

 

>> A=[1,3;5,7]; 

>> B=[2,4;6,8];

>> C=A+B 

 

C = 

 



     3     7 

    11    15 

 

>> C=A+3 

 

C = 

 

     4     6 

     8    10

 

 

 

>> C=A-B 

 

C = 

 

    -1    -1 

    -1    -1 

  

>> C=A*B 

 

C = 

 

    20    28 

    52    76 

 

 

>> C=A^2 

 

C = 

 

    16    24 

    40    64 

 

>> C=A.^2 

 

C = 

 

     1     9 

    25    49 


